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QUESTION 1

A company is using Federated Repository with 3 LDAP servers defined. Users and groups are synced to the
ObjectServer. Some users cannot log in to the Tivoli Integrated Portal. The SystemOut.log shows this exception: 

[1/23/13 12:44:03:743 CST] 000000b5 exception E com.ibm.ws.wim.ProfileManager loginlmpl 

com.ibm.websphere.wim.exception.DuplicateLogonldException: CWWIM4538E Multiple principals were found for the
\\'jsmith\\' principal name. 

What can the administrator do to prevent the error? 

A. use one LDAP server only 

B. switch users.credentials.sync to False 

C. ensure usernames are unique across repositories 

D. use different value for users.credentials.sync.groupname 

Correct Answer: C 

 

 

QUESTION 2

Which two statements are true about automations? (Choose two.) 

A. Automations can communicate with each other and run programs on request. 

B. Automations support full remote management of process agents from a single console. 

C. Automations enable the ObjectServer to process alerts without requiring an operator to take action. 

D. Automations can be used to detect changes in the ObjectServer and to run automated responses to these changes. 

E. Automations provide an interface for defining and manipulating relational database objects such as tables and views 

Correct Answer: CD 

 

QUESTION 3

An ObjectServer is being configured with High Availability The primary ObjectServer, called LONDON_P, is configured
on servera The backup ObjectServer, called LONDON_B, is configured on serverb The synchronizer gateway, called
LONDON_GATE, is installed on serverb Neither of the ObjectServers is running in Secure Mode The goal is a
configuration that implements ObjectServer failover and fallback in the most efficient manner and in accordance with
standard Best Practices. What identifies how the ObjectServer property called BackupObjectServer is configured? 

A. The value of the property on LONDON_B is manually set to True. 

B. The value of the property on LONDON_P is manually set to LONDON_B. 
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C. The value of the property on LONDON_B is automatically configured by LONDON_GATE 

D. The value of the property on LONDON_P is automatically configured by LONDON_GATE 

Correct Answer: A 

 

 

QUESTION 4

An administrator would like to give a group of users access to an Active Event List in IBM Tivoli Netcool/OMNIbus V7.4
WebGUI but keep them from using right-click tools. Which role should be used? 

A. ncw_user 

B. netcool_ro 

C. netcool_nt 

D. netcool_rw 

Correct Answer: B 

 

QUESTION 5

IBM Tivoli Netcool/OMNIbus V7 4 core components are being installed on a server running 64-bit SUSE Linux. The
server hardware consists of 8 CPUs (2.4 GHz), 16 GB RAM, and 2500 GB disks. The software will be installed using the
Typical installation option 

Which statement is true about system hardware requirements? 

A. This system must have additional disk space to accommodate log files. 

B. The hardware on this system is adequate for most small to medium deployments. 

C. This system must have additional RAM to support the larger ObjectServer memory capable with 64-bit support 

D. This system must have additional disk space dedicated to the /tmp directory that is required during installation 

Correct Answer: B 
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